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NEW QUESTION 1
Click the Exhibit button.

M\ Exhibit

user@router> show configuration interfaces ge-0/0/1.0
family inet {
filter |
input input-f£ff;
}
address 10.10.102.1/24;
user@router> show configuration firewall filter input-£ff
term tl1 |
then {
reject;

Referring to the exhibit, which statement is correct about traffic received on the ge-0/0/1.0 interface?

A. All traffic will be silently dropped.

B. All traffic will be accepted.

C. All traffic will be dropped and a UDP message sent back to the source.

D. All traffic will be dropped and an ICMP notification sent back to the source.

Answer: C

NEW QUESTION 2
What is the name of the volume containing the software and files used for the day-to day operation of a device using Junos with upgraded FreeBSD?

A. lvar

B. /active
C. /junos
D. /Joam

Answer: C

NEW QUESTION 3
Which two statements describe the RE on Junos OS devices? (Choose two.)

A. The RE is considered the control plane.

B. The RE forwards traffic based on its local copy of the forwarding table.
C. The RE provides hardware status messages for the PFE

D. The RE maintains the routing tables.

Answer: AD

Explanation:
Ref: Juniper Networks Partner Solution Development Platform: Architecture of the JUNOS System “Architecture of the JUNOS System

The Routing Engine operates all routing protocols and makes all routing decisions by creating a routing table that includes the best path to each destination. The
router writes these paths to a forwarding table in the Routing Engine and then copies the same data to the forwarding table on the Packet Forwarding Engine
(PFE) which actually forwards the packets.

The Control Plane

The control plane runs on the Routing Engine. Its role is to manage and control the behavior of the device, including the data plane and the services plane.

NEW QUESTION 4
Which protocol connects multiple autonomous systems?

A. OSPF
B. IS-IS

C. IBGP
D. EBGP

Answer: D
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Explanation:
According to the Juniper Networks JNCIA-Junos Study Guide, "External Border Gateway Protocol (EBGP) is used to connect multiple autonomous systems (ASes)
and exchange routing information between them."

NEW QUESTION 5
What is the decimal equivalent of 000001007

.2
.4
.9
.1

o0 w>

2

Answer: B

NEW QUESTION 6
Which system-defined user class is able to perform all operations on a device?

A. operator

B. authorized
C. read-write
D. super-user

Answer: D

NEW QUESTION 7
A device receives a route update for network 172.19.0.0/16 from two different routing information sources. In this scenario, which parameter will determine the
active route?

A. the route learned from the next hop with the highest IP address
B. the route learned with the lowest default route preference

C. the route learned from the next hop with the lowest IP address
D. the route with the lowest metric

Answer: D

NEW QUESTION 8
Which layer of the OSI model does a router use to make forwarding decisions?

A. Layer 3
B. Layer 4
C. Layer 5
D. Layer 2

Answer: A

NEW QUESTION 9
Click the Exhibit button
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What is the next-hop interface for traffic destined to 172.19.52.101 as shown in the exhibit?
A. ge-0/0/3.0

B. ge-0/0/0.0

C. ge-0/0/2.0

D. ge-0/0/1.0

Answer: D

NEW QUESTION 10
Click the Exhibit button.
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o0 ® Wireshark - Packet 1 - ip-options.pcap

Frase 1: 160 bytes on wire (1280 bits), 96 bytes captured (768 bits)
Juniper Ethernet
Ethernet IT, Src: Vware a9:eb:20 (09:50:56:a9:eb:20), Dst: Vware a0:47:33 (00:50:56:a9:47:33)
Internet Protocol Version 4, Src: 10.10.201.2, Dst: 172.25.11.254
0108 .... = Version: 4
ssss 1111 = Header Length: &2 bytes (15)
Differentiated Services Field: Bx0@ (D5CP: C50, ECM: Not-ECT)
Tatal Length: 124
Ideatification: @xbofd (27991)
Flags: 0=
Fragment Dffist: @
Time to Liwe: 64
Protocol: ICHP (1)
Header Checksun: 8x6d39 [validation o 33:46 80.1 MB  Ctrl+F11: Pause / Resume ®
[Header checkium statut: Unwerified)
Source Address: 10.19.2901.2
Destination Address: 172.325.11.254
Optlons: (40 bytes), Recard Route

» IP Option = Record Route (39 bytes)
IP Option = End of Options List (EOL)
[Packet size limited during capture: ICMP truncated]

What happens if the packet shown in the exhibit is received by a device running Junos OS?

A. The packet is received by the RE first and then redirected to the PFE.
B. The packet is received by the PFE first and then redirected to the RE.
C. The packet is handled by the PFE alone.

D. The packet is handled by the RE alone.

Answer: B

Explanation:

IP options are exception traffic

Packets addressed to the chassis, such as routing protocol updates, Telnet sessions, pings, traceroutes, and replies to traffic sourced from the RE;

« IP packets with the IP options field (options in the packet’s IP header are rarely seen, but the PFE was purposely designed not to handle IP options; packets with
IP options must be sent to the RE for processing); and

« Traffic that requires the generation of Internet Control Message Protocol (ICMP) messages.

NEW QUESTION 10
Which statement about the forwarding table is correct?

A. It contains all known routes including IPv6
B. It is only available on the PFE

C. Itis only available on the RE

D. It is available on both the RE and the PFE.

Answer: B

NEW QUESTION 11
You enable unicast reverse path forwarding on the ge-0/0/1.0 interface A packet is received on the ge-0/0/1.0 interface with a source address of 10.10.10.10. A
route lookup determines that the next hop for the 10.10.10.10 address is the ge-0/0/1.0 interface. In this scenario which action is performed?

A. The packet is logged

B. The packet is forwarded
C. The packet is rejected
D. The packet is discarded

Answer: B

Explanation:
https://www.juniper.net/documentation/us/en/software/junos/security-services/topics/topic-map/interfaces-confi
NEW QUESTION 14

The IP address 10.1.1.1 belongs to which class of IP address space?

A. Class A

B. Class B

C.Class C

D. Class D

Answer: A

NEW QUESTION 19
Which set of IP addresses are in the same subnet?
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A.185.114.16.91/28 and 185.114.16.96/28
B. 185.114.16.77/28 and 185.114.16.82/28
C. 185.114.16.40/28 and 185.114.16.45/28
D. 185.114.16.59/28 and 185.114.16.82/28

Answer: C

NEW QUESTION 24
Click the Exhibit button.
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[evi 1a: Eresent Bunning
LI rface rlag SHMP-Trag
Link type Full-Duple
irrent ddres: 1 J:56:a lezk HAa ware addre ! 5 BE { 1
Last fla &1 FALK, =17 1e:27:1 I L iwW3d £ S5& ago)
Input packets : 5405
DUtput packets: 30089 J 3042 TEIMB Ctrl«F11: Pause / Resume W
Loglcal 1 rfac fxp0.0 (Index 3) (SMMP ffipndsx 13)
Fla HMP-TIa Enca lation: ENETZ
Input - 1 54054
1] ackats: 3008%
Frotocol inet, MT 154
4 ache: 1 P 1d ifmi Li ; Cure 1 1
re new 1 I ix :
glLags: Se &} o L re, I Frimary
Addre ez, Flag Iz-Def : | I Preferred I Fri E
Destinatl 172.25.11/24, local: 172.25.11.1, Broad 172.25.11.255

Referring to the exhibit, which two statements are true? (Choose two.)

A. The logical interface is running IPv6.

B. The interface is operating in full-duplex mode.

C. The address 172.25.11.255 is the broadcast address for the logical interface.
D. The interface MAC address has been changed from the default MAC address.

Answer: BC

NEW QUESTION 28
Which two protocols use UDP to facilitate speed? (Choose two.)

A. OFTP
B. TFTP
C.SCP

D. SNMP

Answer: BD

NEW QUESTION 31
Click the Exhibit button

sperdrouterf ahow protocsis 121 diap.ay aet

#et ProTocols 10L0 tracacptions L.ile L0-iP-.icQgP..0q

L' ]

pat protocols isie tracecptions flag hellc
set protocols isis tracecptions fleg packets
set protocals 131 traceoptiony flag normal
pet ProTocols isip level 1 disable

29t protccals iaip interface e-2/0/0.0 painat-to-point

You are capturing logs to troubleshoot an issue with IS-1S; however, the logs are increasing in size too quickly.
Referring to the exhibit, which configuration statement would solve this problem?

A. set protocols isis traceoptions flag hello detail

B. set protocols isis traceoptions file files 10

C. delete protocols isis traceoptions flag normal

D. delete protocols isis traceoptions file is-is-logs.log

Answer: D
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NEW QUESTION 33
Which statement about the show chassis hardware Command is correct?

A. The command provides a list of installed hardware components, including serial numbers and model numbers.
B. The command provides a list of all current hardware utilization statistics and operational status

C. The command provides 2 list of supported hardware components and their current operating status

D. The command provides a list of supported hardware components and environmental thresholds.

Answer: A

NEW QUESTION 36
Referring to the exhibit.

84l proanosa.s 2aptl
uaserflrouzert edirt area 51 scukb

l@dit practoccis 2spf area 0.0.0.51 stub]
userfrouzerf ex:ic

what happens when you issue the exit command at the [edit protocols ospf area 0.0.0.51 stub] hierarchy level?

A. You move one level up to the [edit protocols ospf area 0.0.0.51] hierarchy level.
B. You exit the configuration mode.

C. You move to the [edit] hierarchy level.

D. You move to the most recent higher level of the [edit protocols ospf] hierarchy.

Answer: D

NEW QUESTION 39
What is the network address for a host with an IP address of 192.168.87.125/167?

A. 192.168.128.0
B. 192.168.0.0
C. 192.168.96.0
D.192.168.87.0

Answer: B

Explanation:

The network address for a host is determined by performing a bitwise AND operation between the host's IP address and the subnet mask. In this case, the IP
address is192.168.87.125 and the subnet mask is 255.255.0.0 (or /16), which means that the first 16 bits are used for the network portion of the address and the
remaining 16 bits are used for the host portion.

To find the network address, we perform the bitwise AND operation: 192.168.87.125 (IP address)

& 255.255.0.0 (subnet mask)

=192.168.0.0 (network address)

So, the network address for a host with an IP address of 192.168.87.125/16 is 192.168.0.0.

NEW QUESTION 41
What are two functions of the PFE? (Choose two.)

A. to maintain the forwarding tables

B. to apply the class of service function
C. to forward transit traffic

D. to monitor the chassis

Answer: BC

NEW QUESTION 44
You must recover a device by loading the rescue configuration file. In this scenario, which command will accomplish this task?

A. {master:0}user@router> load override rescue

B. {master:0}user@router> rollback rescue

C. {master:0} [editluser@routert load override rescue
D. {master:0} [edit] user@router# rollback rescue

Answer: D

Explanation:

{master:0} [edit] user@router# rollback rescue

This command is used to load the rescue configuration file on a Junos device. The "rollback rescue" command will restore the device to a previously saved backup
configuration, which is stored as a rescue configuration file. This is useful in case the current configuration becomes unavailable or if the device is unable to boot
properly. The "rollback” keyword indicates that we want to restore the previous configuration and the "rescue" keyword specifies that we want to restore the rescue
configuration file.

It is important to note that the correct prompt for this command is in configuration mode, indicated by "[edit]" in the prompt.
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NEW QUESTION 49
What information is provided by the help topic interface ? command?

A. It displays the administration manual for the interface command.

B. It displays usage examples for the top-ten interface commands.

C. It displays the available options and a brief description of usage guidelines.

D. It displays the best options to use with the interface command regarding your current configuration.

Answer: C

NEW QUESTION 53
Which three benefits are made possible by the separation of the control plane and forwarding plane of a Junos device? (Choose three.)

A. nonstop active routing

B. in-service software upgrades

C. deep packet inspection

D. stateful firewall

E. graceful Routing Engine switchover

Answer: ABE
Explanation:

"This architectural design also makes possible the incorporation of high availability features like graceful Routing Engine switchover (GRES), nonstop active
routing (NSR), and unified in-service software upgrades (ISSUs)."https://douran.academy/wp-content/uploads/ebooks/jnica-junos-study-guide-part1.pdf

NEW QUESTION 55

For the interface ge-1/2/3.4, what does "ge" represent?
A. SONET/SDH

B. Gigabit EthernetC Aggregated Ethernet

C. GRE

Answer: B

NEW QUESTION 60
Click the Exhibit button

M Exhibit

userfirouter> show system alarms

1 alarms currently active

Alarm time -1ass Descripticn

2021-08-16 23:435:17 UTC Minor Rescue configuration is not set

Which command will solve the problem shown in the exhibit?
A. user@routert# request system configuration rescue commit
B. user@router> request system configuration rescue save

C. user@router# file copy current /config/rescue.conf

D. user@router> file copy current /config/rescue.conf
Answer: B

NEW QUESTION 63
Click the Exhibit button.
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You have applied the policy shown in the exhibit as an import policy to your BGP group In this scenario, what will happen when the router receives the

192.168.30.48/32 route?

A. It will be sent to the default BGP policy
B. It wall match term-1 and be accepted.
C. It wall match term-2 and be accepted
D. It will match term-2 and be rejected.

Answer: D

NEW QUESTION 66

Which command prompt indicates that you are in operational mode?
A. user @ router &

B. user @ router #

C. user @ router $

D. user @ router >

Answer: D

NEW QUESTION 68

Which two commands will provide the current configuration of the MX1-PE1 BGP group on your router? (Choose two.)

A. user@router# show groups | display set | match MX1-PE1

B. user@router# show | display set | match MX1-PE1

C. user@router> show configuration | match set | match MX1-PE1
D. user@router> show configuration | dispalv set | match MX1-PE1

Answer: BD

NEW QUESTION 72
After logging in as root, you enter thecli command. What does this command do?

A. It enables you to enter configuration mode.
B. It enables you to enter line edit mode.

C. It enables you to enter operational mode.
D. It enables you to enter interface mode.

Answer: C

NEW QUESTION 73

Which word starts a command to display the operational status of a Junos device?
A. put

B. set

C. show
D. get
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Answer: C

NEW QUESTION 77
What are three characteristics of Layer 2 switches? (Choose Three)

A. Layer 2 switches separates multicast domains.

B. Layer 2 switches separates collision domains.

C. Layer 2 switches forward traffic addressed to hosts that reside on the same collision domain.
D. Layer 2 switches forward traffic addressed to hosts that reside on a different collision domain.
E. Layer 2 switches forward broadcast traffic.

Answer: BDE

NEW QUESTION 79
A user has entered the sequence of commands shown in the exhibit

At which level of the configuration hierarchy would the user be after typing the exit command?

A. [edit]

B. [edit interfaces ge-0/0/0]

C. [edit interfaces ge-0/0/0 unit 01 ]
D. [edit interfaces]

Answer: D

Explanation:

abc# edit interfaces [edit interfaces]

abc# edit ge-0/0/1 unit O family inet

[edit interfaces ge-0/0/1 unit 0 family inet] abc# exit
[edit interfaces]

NEW QUESTION 82
Which two statements describe the functions of the Routing Engine (RE)? (Choose two.)

A. The RE will apply filters and routing policies when forwarding the packets to their final destination.

B. The RE will calculate the best network path to each individual subnet based on input from various routing protocols and static routes.

C. The RE will route or switch packets or frames out of the correct interface as quickly as possible.
D. The RE will process management traffic to help monitor and manage the network device.

Answer: BD

NEW QUESTION 86

Which statement regarding transit traffic processing is correct?

A. Transit traffic is processed by both the control plane and forwarding plane.
B. Transit traffic is only processed by the control plane.

C. Transit traffic is only processed by the forwarding plane

D. Transit traffic is not processed by the local device.

Answer: C

NEW QUESTION 88

What will the request system configuration rescue save command accomplish?
A. It will generate support information for JTAC.

B. It will save a copy of the configuration so that you can go back to it at any time
C. It will prevent 2 commit from happening

D. It will restore your system to factory default settings.

Answer: B

NEW QUESTION 92
Which routing instance type is used for filter-based forwarding applications?
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A. layer2-control
B. vpls

C. forwarding

D. vrf

Answer: C

Explanation:

The forwarding routing instance type is used for filter-based forwarding applications, such as policy-based routing and traffic engineering. This type of routing
instance is used when the routing table needs to contain

more detailed information than what is available in the default routing table. According to the Juniper Networks Technical Certification Program (JNTCP)
documents[1], the forwarding routing instance type is used for filter-based forwarding applications.

NEW QUESTION 94
Which statement describes the ulst next-hop type that appears in the output of the show route forwarding-table command?

A. A list of unicast or multicast forwarding entries waiting to be resolved.

B. A list of unicast destination prefixes for which packets will be silently discarded

C. Alist of unicast next hops used for a given destination for which load balancing is enabled
D. A list of unicast or multicast destination prefixes for which packets will be silently discarded.

Answer: C

NEW QUESTION 95
Click the Exhibit button
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Referring to the exhibit, you are unable to reach devices in the 172.19.25.0/28 subnet. What should you do to solve this problem?

A. Enable the ge-0/0/2 interface.

B. Enable the ge-0/0/2.2 interface.
C. Enable the ge-0/0/2.0 interface.
D. Enable the ge-0/0/2.1 interface.

Answer: C

NEW QUESTION 96
Which command allows you to execute operational mode commands while in configuration mode?

A. activate
B. show
C.run

D. set

Answer: C

Explanation:
https://help.ui.com/hc/en-us/articles/204960094-EdgeRouter-Configuration-and-Operational-Mode#:~:text=1f% If you wish to run an Operational Mode command
from while in Configuration Mode, use the run com https://www.juniper.net/documentation/en_US/src4.10/topics/task/operational/cli-modes-switching.html

NEW QUESTION 97
You want to temporarily apply a candidate configuration to the active configuration and automatically roll back after 10 minutes
In this scenario, which command will accomplish this task?

A. commit at

B. commit confirmed
C. commit check

D. commit

Answer: B
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Explanation:

[edit]

user@host#commit confirmed

commit confirmed will be automatically rolled back in 10 minutes unless confirmed commit complete

#commit confirmed will be rolled back in 10 minutes [edit]

user@host#
https://www.juniper.net/documentation/us/en/software/junos/clitopics/topic-map/junos-configuration-commit.ht

NEW QUESTION 100
Host A is communicating with Host B through a Layer 2 switch.
What is the highest layer that the switch will inspect the traffic in this scenario?

A. Data Link
B. Transport
C. Network
D. Session

Answer: A

NEW QUESTION 102

Your Partner of IT Exam

visit - https://www.exambible.com



We recommend you to try the PREMIUM JNO-104 Dumps From Exambible
exam blb|@ https://www.exambible.com/JNO-104-exam/ (141 Q&AS)

Relate Links

100% Pass Your JNO-104 Exam with Exambible Prep Materials

https://www.exambible.com/JN0-104-exam/

Contact us

Weare proud of our high-quality customer service, which servesyou around the clock 24/7.

Viste - https.//www.exambible.com/

Your Partner of IT Exam visit - https://www.exambible.com


https://www.exambible.com/JN0-104-exam/
https://www.exambible.com/
http://www.tcpdf.org

